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NO | HEES BEETA BHERUSIN | wpne | s NO | HEES BEET A BRBEUS/D) | xgrne |
cm 50cm 1.0m 1cm 50cm 1.0m
1] A—4 |BATIHAD 0.27 0.24 0.23 Y 62] D—6 |ABHERIKE 0.12 0.12 0.12 ED)
2l B—8 [MAMKXESE 0.17 0.15 0.14 £ 63] D—6 [Eall=a1—4292 (2B 0.15 0.12 0.12 )
3] B—4 |=/HIESHE 0.23 0.18 0.15 =Y 64f D—7 | FHEAREEFH 0.13 0.11 0.11 £
4 B-—5 |HBFLARE 0.12 0.12 0.11 £Y 65| D—7 |EHFEREHVS 0.13 0.12 0.12 £
5| B—5 |[AHhAREE 0.12 0.12 0.11 =l 66] D—7 [/NAEEHA 0.19 0.19 014 )
6] B—5 [RIREA)LHA 0.11 0.11 0.10 £Y 67] D—7 |E)IHiE 011 011 010 =)
7] B—5 |AKR(EA)fHE 0.13 0.12 0.11 £Y 68] D—7 [EBLLEZE400m%Ek (i 0.13 0.12 0.11 ED)
8| B—5 [FFHEAH 0.10 0.09 0.09 D) 69| D—7 [E@EmEERAO 0.14 0.12 0.10 £U
9] B—6 |FTHELREE 0.11 0.10 0.10 £Y 700 D—7 [EBHEAE 0.21 0.15 0.13 £
100 B—6 |T4&JIFA 0.10 0.09 0.09 Y 71 D—7 [VvIBEEIEGE 0.12 0.14 0.13 ED)
11| B—6 |#HEAERESREO@EO) A 0.09 0.08 0.08 =Y 72| D—8 [FEIJI(HFE) 014 013 011 =)
12 B—6 [HEfHA 0.09 0.09 0.09 =) 73| E—2 |MAFHE{HE 0.13 0.15 0.16 =)
13] B—6__ |[dLLgifhia 0.13 0.11 0.11 =Y 74| E—2 |BERFCEFD B 0.13 0.11 0.11 £
14 B—6_|[#FHBMA 0.24 0.16 0.15 =Y 75| E—3 |EBR/E@HhigE 0.22 0.19 0.16 £
15| B—6 |M/IR/AEREEH 0.16 0.13 0.11 £Y 76| E—4 [BIRARIERT 0.11 0.09 0.09 £Y
16| B—6 |RIREEEMA 0.11 0.10 0.09 £ 771l E—4 |[IBR/R/AREEAI 0.14 0.14 0.13 e
17]  B—7 [/NHAEZFHIERE (EXTEE i) 0.11 0.10 0.09 £ 78] E—5 |FIRA LA 0.13 0.11 011 21
18] C—3 |[hAFEMEAO 0.16 0.17 0.17 =Y 79| E—5 |8EIRAEIfTH 0.13 0.11 0.11 £
19] C—3 &/ Ar®ittAOf+RE 0.24 0.22 0.18 D) 80 E—6 [—/XiA 0.12 0.10 0.09 BEAL
200 Cc—4 |#EBOILKA 0.15 0.13 0.12 =Y 81| E—6 |t FHFR=FMEPHFTHE 0.15 0.14 0.12 £
2] C—4 | TFHPA(HHZFBEETIT) 0.12 0.10 0.10 £ 82| E—6_ |/NABHIHAMA 0.12 0.10 0.09 Bh
22 C—4 |PFX#EHHE 0.20 0.18 0.13 =Y 83] E—6_ | ABOEISUE 0.23 0.18 0.15 Bh
23]  C—4  [BXIUV—2aY2(2E) (1) 0.10 0.10 0.10 D) g4 E—6 |BEFCGEHSRAD) 0.10 0.12 0.13 Bh
24f Cc—5 |EEVNERELE 0.09 0.09 0.09 £ 85| E—7 |FRIRIREEA 0.22 0.21 0.19 £
25| Cc—5 |HNILEHFE 0.12 0.11 0.09 £Y 86| E—7 |HEIMSRAIEHAI 0.14 0.13 0.13 Bh
26] Cc—5 |X£i7F 0.13 0.12 0.11 £Y 87| E—7 |HRAREERD 0.11 0.10 0.10 £
27] C—5 |TFREEHNA 0.19 0.15 0.12 £ 88| E—7 |MRAREERI+TFERMAA 0.15 0.15 0.13 £
28] Cc—6  [5OFELNE 0.14 0.13 0.12 £Y 89| F—4 [F/itfhk 0.13 0.15 0.14 £Y
29] Cc—6 | F#HHEAREER 0.13 0.12 0.10 £ 90| F—4 |HEBXEELSI—ETHGH 0.10 0.10 0.09 £
30| c—6 [FBILIEMMmADO 0.15 0.15 0.15 £Y 91 F—4 |IHfEE ABU 2 2—HI 0.12 0.11 0.11 £Y
31] Cc—6 |[HEllIEMtE/KHEFREELR 0.37 0.23 0.16 £Y 92| F—5 [EBRAEMA(R289H/H500m4 LFE) 0.12 0.12 0.12 £Y
32 C—6  |LATULAEE 0.11 0.11 0.10 £ 93 F—5 |ZERAREER 0.11 0.09 0.08 £
3] C—6_ |MEBEAGMTIA 0.12 0.12 0.11 £ 94 F—5 |HBt A—ZRHI 0.26 0.18 0.15 £
4| Cc—6 |FEIRBEEEHIGRHTH 0.09 0.09 0.09 £ 95| F—5 |ZEAGHRBIGHA/OFHA 0.13 0.11 0.11 £
35| Cc—6 |[ILTHREREUEZ—(HEAH) 0.10 0.10 0.08 £Y 96| F—6 |&Ef/KHAO 0.12 0.11 0.10 Bh
36| C—6 |ILITESEERMEE 0.23 0.15 0.12 £ 97| F—6  |MIEBUSET FIR 0.13 0.10 0.09 Bh
371 C—=7 I\ MUNAVED 0.10 0.10 0.09 =Y 98| F—6 |EHN\REH{TA 0.12 0.12 0.12 Bh
38 C—7 | KRFELAEEGE) 0.09 0.09 0.08 £ 9 G—1 | FEAF@EEH-XXE) 0.11 0.11 0.11 £
9] c—7 |NEHEREERK 0.14 0.13 0.11 £Y 100] G—3 |FEiEY LETEIS 0.14 0.12 0.11 £Y
40 Cc—7 |EBFEEIEFMFTA 0.12 0.11 0.10 =Y 101 G—4 |SFKEGRERFRISATR) 0.26 0.20 0.18 £
411 Cc—7 |EBFEEEMTR 0.11 0.11 0.11 =Y 102]  G—4 |EZEMhHA 0.11 0.10 0.09 21
42 C—7 | ETR 0.12 0.12 0.12 £Y 103] G—5 |IHEQBHUN)—HS5TEFEBHE 0.18 0.16 0.16 21
43| C—7 |[EhE#h(EIEIE) 0.15 0.15 0.13 D) 104] G—5 [EIZLEHEEHERFTE 0.10 0.08 0.08 £Y
44| C—7 | RIEHBHIEMFEA 0.14 0.14 0.12 =Y 105 G—6 | KREEHEEREM 0.09 0.08 0.09 Bh
45| C—8 |BER(HFE) 0.14 0.14 0.13 =Y 106] G—6 |E2HRTFE 0.11 0.11 0.10 Bh
46| D—2 [IBYY—rvECCAO 0.14 0.12 0.12 D) 107] H—3 |HFH~RHhis 0.12 0.12 0.11 £
47| D—3 |FAFH@E 0.17 0.15 0.12 =Y 108] H—4 |EECAHEILEES 0.12 0.11 0.10 £l
48| D—3 |HENEKEEMM 0.14 0.13 0.12 Y 109] H-—5 |EfMHEMERMTRCREIZL) 0.14 0.14 0.12 D)
49| D—4 |[EBh(HEFR) R 0.14 0.11 0.11 £Y 110 H—6 | KERFEHDER 0.10 0.10 0.09 BEAL
50| D—4 [#BEE/AMRN 0.16 0.16 0.16 £Y 111 1-3  [¥30a f(E) 0.13 0.12 0.12 =Y
51/ D—4 |EPARNKRE 0.14 0.13 0.13 £Y 12| 1—-4 |BFSEISYHRTFILAOMRA 0.10 0.10 0.11 ED)
52| D—5 [SHIEIE(TA 0.17 0.12 012 &Y 13 1—4 [BRORED) 0.10 0.10 010 =
53) D—5 [BBE/NFIR(EIEIGHED) 0.09 0.09 0.08 £ 14| 1—-4 |BRAORFYUIHAO 0.16 0.14 0.13 £
54 D—5 |BHAEREERED 0.14 0.12 0.12 £Y 115 1—4 | BasEBsSmnRansmOkESH) 0.16 0.14 0.11 £Y
55| D—5 |IHEMZAEREERI 0.15 0.14 0.13 £ 116] J—5 |FEILEHIS 0.12 0.11 0.08 £
56| D—5 |EBE/HAOfLA 0.14 0.13 0.12 =) 117] K—3 |FFrRIVAOEIES 0.13 0.11 0.11 £l
571 D—6_|[fTABEYVINISUK 0.15 0.12 0.12 £Y 118 K—3 |BFILUIE = - 0.02] 10/25(f&h.)
58| D—6 |BFHA—TUE 0.09 0.09 0.09 D) 119 K—3 [|EAEfhA - - 0.04] 10/25(f&h.)
59| D—6 [LEifOF#A 0.12 0.12 0.12 £Y 120 K—3 |KREEREHIB{A 0.15 0.14 0.13 £Y
60f D—6 |AEtsA+FiE 0.31 0.23 0.16 £Y 121 K—4  |it= - - 0.15] 8/30(FEH.)
61] D—6 |HEBEZEFENA 0.31 0.20 0.16 £Y 122] K—4 [#fE = - 0.04] 8/30(FEh)




